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The Normative 'Faces of Power' Debate

The faces of power 'debate’ has coalesced into a viable conception of
three dimensions of power including decision-making, agenda-setting,
and preference-shaping. The decision-making dimension was first put
forth by Robert Dahl, who advocated the notion that political power is
based in the formal political arena and is measured through voting
patterns and the decisions made by politicians. This view was seen by
many as simplistic and a secord dimension to the notion of political
power was added by academics Peter Bachrach and Morton Baratz
involving agenda-setting. Bachrach and Baratz viewed power as
involving both the formal political arena and behind the scenes
agenda-setting by elite groups who could be either politicians and/or
others (such as industrialists, campaign contributors, special interest
groups and so on), often with & hidden agenda that most of the public
may not be aware of. The third dimension of power was added by British
academic Steven Lukes who felt that even with this second dimension,
some other traits of political power needed to be addressed through the
concept of 'preference-shaping’. This third dimension is inspired by many
Neo-Gramscian views such as cultural hegemony and deals with how
civil society and the general public have their preferences shaped for
them by those in power through the use of propaganda or the media.
Uliimately, this third dimension holds that the general public may not be
aware of what decisions are actually in their interest due to the invisible
power of elites who work to distort their perceptions. Critics of this view
claim that such notions are themselves elitist, which Lukes then clearly
admits as one problem of this view and yet clarifies that as long as those
who make claims that preferences are being shaped explain their own
interests etc., there is room for more transparency.
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1. Jim is risk-neutral and is offered the following gamble. If he pays £1C to participate then he can win £20 with
probability 0.2 and £5 with probability 0.4. He may also win £x with the associated probablllty What value of x
leaves Jim indifferent between taking the gamble and not taking the gamble?

A) £20 B) £10 C)£5 D)o

2. Tim is offered the following gamble. Pay £50 to play and there is a 50% chance of winning £100 and a 50%
chance of wm.mng nothing. Tim takes the bet immediately as it increases his expected utility. Which of the
following is true?

A) Tim is risk-averse. B} Tim is risk-loving. C) Tim is risk neutral.
D) Tim does not value money.

4.1f a firm hires a single worker the marginal product of that worker is 19. For every additional worker it hires the
marginal product falls by one unit. If the wage rate is £10, which of the following is correct?

A) The firm should hire one worker. B) The firm should hire ten workers.
C) The firm should hire nine workers. D) None of the above,

4. Tf a wage floor is imposed below the current market equilibrium wage then which of the following will occur?

A) The equilibrium wage will rise and employment will fall.
B) The equilibrium wage will fall and employment will rise.
C) The equilibrium wage will rise and employment will rise.
D) None of the above.

5.1f a firm hires a single worker her marglnal product is 20, For every additional worker it hires, the marginal

product falls by 4 units. If the wage rate is £25 and the price of output is equal to £1, which of the following is
correct?

A) The firm should hire one worker. B) The firm should hire two workers.
) The firm should hire three workers. D) The firm should not hire any workers.

6. A consumer has a reservation price of £8 for purchasing a unit of a good and a reservation price of £9 to sell a
unit of the same good. If the prevailing market price is £12 then which of the following will occur?

A) The consumer sells a unit and makes a surplus of £4.
B) The consurner sells a unit and makes a surplus of £3.
C) The consumer buys a unit and makes a surplus of £4.
D) The consumer buys a unit and makes a surplus of £3.

7. .Rjght shoes and left shoes are a good example of what type of preferences?

A) Perfect substitutes. B) Perfect complements. C) Quasi-linear preferences.
) Concave preferences.

8. If good one is desirable and good two is undesirable then which of the following is true (assuming good 1 is on
horizontal axis)?

A) Indifference curves are upward sloping. B) Indifference curves are horizontal.

C) Indifference curves are downward sloping. D) Indifference curves are vertical.
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l 9. A utility function that represents preferences:

i A) Assigns the same number to bundles that lie on the same indifference curve and higher numbers to bundles
‘ that are preferred.

| B) Assigns the same number to bundles that lie on the same indiffersnce curve and lower numbers to bundles
i that are preferred.

w' C) Assigns same number to all bundles.

D) Assigns different numbers to bundles that lie on the same indifference curve.

10. Iftwo goods are undesirable then what point does the origin in  space best represent?
| A) The point where preferences are satiated. B) The point where cost is maximised.
C) The point where utility is minimized. D) None of the above.

11. In a two good case, if a consumer has quasi-linear preferences with respect to a good and the consumer's
income increases, which of the following will occur?

A) An increase in the demand for good two. B) A decrease in the demand for good two.

C) Demand for good two remains constant. D) The fraction of income spent on good two increases.

12. If a consumer always consumes a positive amount of two goods, which of the following preferences are
consistent with his behavior?

A) Cobb-Douglas. B) Perfect complements. C) Perfect substitutes.

D) Stone-Geary preferences.

13. In the case of two individuals, if one individual is allowed to set the prices in the market then which of the
3 following is true? ’

A) The individual achieves a higher level of satisfaction than under price taking conditions.

B) The resulting allocation will be efficient.

C) The other individual will not engage in trade.

D) The individual will choose the competitive equilibrium prices.

14. The price-offer curve represents:
A) The locus of ali optimal choices for an individual as relative prices change.
B) All points in the Edgeworth box that cost the same amount.
C) All points in the Edgeworth box that yield the same level of utifity.
D) All points on the contract curve.

15. A consumer regards two goods as perfect substitutes and prices are such that the consumer consumes just good
1. If the price of good 1 increases then which of the following is true?

A) The consumer will buy equal amounts of both goods.

B) The consumer will buy just good 2. C) The consumer will buy just good 1.

D) None of the above.

16, If individuals have different preferences but society’s preferences are consistent with the aggregation of
individual preferences, which of the following is true?

A) All endowments are equal.  B) There are only two individuals in the society.

C) Society’s preferences are determmined by a single individual.

D) The social welfare function is Rawlsian.

17. l{ a firm’s long-run total cost functlon is linear then the ﬁrm must always experience:
A) Constant marginal products for all inputs. ~ B) Decreasing returns to scale.
) Constant returns to scale. D) Increasing retums to scale.

18. If the total cost function is concave then the production function is:
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A)Concave. B) Linear. C) Convex. D) Of a constant elasticity of substitution form.
19. If the average cost curve is decreasing then the marginal cost curvs is:

A) Always decreasing, B) Always increasing. C) Deecreasing or increasing.

D) Always constant.

20. If a profit-maximising firm faces a production technology that extibits decreasing returns to scale, which of
the following profit levels can the firm never achieve in the short-run or the long-run?
A) A positive finite amount. B) A positive infinite amount. C) Zero profit.

D) A finite negative amouni,

21. Before a tax was introduced consumers’ surplus was £4,000 and producers’ surplus was £6,000. After a flat
rate tax of £2 is introduced consumers” surplus falls to£2,500 and producers’ surplus falls to £4,000. If the new
equilibrium quantity sold is 1,500 uniis then what is the deadweight welfare loss associated with the tax?

AYELO0D.  B)£1,500, C) £500. D) £9.

22. Before a tax was introduced consumers” surplus was £5,000 and producers® surplus was £4,000. After a flat
rate tax of £2 is introduced consumer’s surplus is £2,500 and producers’ surplus is £4,000. Which of the following

is frue?
A) Demand is perfectly elastic. B} Supply is perfectly inelastic,
C) Supply is perfectly elastic. D} Demand is more elastic than supply.

23. A monopoly faces the (inverse) demand curve p=30-2Q. If the firm faces a constant average cost equal to 2,
what is the monopoly’s profit-maximizing level of output?

A7 B) 9 Cy1o Dy 15

24. A monopolist is undertaking third-degree price discrimination (in two distinct markets) and faces a constant
marginal cost. If demand in market A is more eiastic than market B, which of the foilowing is true?

A) The monopolist should charge a higher price in market A,

B) The monopolist should charge the same price in both markets.
C) The menopolist should charge a higher price in market B.

D) The monopolist should not sell in market A.

25. if two firms have the same (constant) marginal cost and engage in a quantity-setting game and the outcome is
collusion, which of the following is true?

A) Industry profit is maximized. B) Firm 2’s profit is maximized.
C) Firm 1°s profit is maximized. D) Collusion is an equiitbrium.
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1. The real exchange rate between the United Kingdom and the United States, the price of UK. goods in terms of
U.S. goods, may increase as a result of: '

an increase in the GDP deflator in the United Kingdom.

a depreciation in the £. c. anm appreciation in the doilar.

an increase in the GDP deflator in the United States.

pop

2. ‘Which policy causes the interest rate 1o increase, domestic bonds to become more attractive, the domestic
currency to appreciate, and demand for output to decrease? :

a. An expansionary monetary policy. B. A contractionary monetary policy.

¢. A contractionary fiscal policy. D. An expansionary fiscal policy.

3. A country that pegs its nominal exchange rate against another currency, say the dollar, and allows it to
depreciate in a certain rate against the dollar, is implementing:

a. apegged exchange rate, B. a flexible exchange rate. C. a crawling pegged exchange rate.
d. afixed exchange rate.

4. Real depreciation, from the United States point of view, refers to the case where:
a. the price of U.8. goods in terms of UK. goods increases.

b. the price of UK. goods in terms of U.S. goods decreases.

. real exchange rate decreases.

d. none of the above,

5. Some economists argue for restraining economic policy becanse:
a. policy makers may end up doing what's harmful to the ecoromy.
b. economic policies do not affect the economy.

¢. economic policies are always in conflict with each other.

d. all of the above.

6. Holding money supply constant, an increase in output, Y, shifts the money demand curve, Md, to the right,
which causes the equilibrium interest rate 1o tise. This relationship is depicted by the:
a. LMcurve. b. ZZline. c. IScurve. d. Mdcurve.

7. An increase in the price level, all else fixed, will:

a.  shift the LM curve to the left, increase interest rate, increase the demand for goods, and increase output and
prices.

b. shift the LM curve to the lefi, increase interest rate, decrease the demand for goods, and decrease output and
prices. .

c. shift the LM curve to the left, decrease interest rate, increase the demand for goods, and increass output and
prices.

d.  shifi the LM curve to the left, increase interest rate, increase the demand for goods, and decrease output and
prices.

8. Which of the following is not a determinant of the wage rate?

a. Expected price level. b. Unemployment rate. ¢. Actaal price level.
d. Unemployment insurance.

9. Which of the following shift the LM curve to the right?
a.” Increase in money supply. b. Purchase of bonds by the Fed.
c. Decrease in the price level. d. All of the above.
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10. Which of the following shifts the AD curve to the right?
a. Expansionary fiscal policy and expansionary monefary policy.
b. Contractionary fiscal policy and contractionary monetary policy.
c. Confractionary fiscal policy and expansionary monetary policy.
d. Expansicnary fiscal policy and contractionary monetary policy.
11. For a given expected inflation rate and a given natural unemployment rate, an increase in actual
unemployment:
a. lowers inflation. b. increases inflation. c¢. doss not affect inflation.
d. none of the above.
12. Which of the following causes the inflation rate to increase?
a. Lower expected inflation. b. Lower unemployment rate.
c. Lowerunemployment benefits . d. Lower markup price.
13.If growth in output is 4% and the inflation rate is 1%, growth in nominal money equals:
a. 4%. b. 3% ¢ 5%. d 1%.
14. Assuming labor is the only factor of production, growth in output, ¥, can be generated by:
a. growth in employment only. b. growth in labor productivity only.
c. acombination of growth in employment and growth in labor productivity.
d. all of the above.
15, According to Okun's Law, what is the result of an increase in output growth?
a. adecrease in unemployment. b. adecrease in inflation.
€. anincrease in unemployment. d. an increase in inflztion.
16. When comparing economic performance of different countries, it is more useful to look at outpuit per capita
rather than total output because:
a. output per capita gives a better indication of the standard of living.
b. output per capita is easier to calculate,
c. total output cannot be used to calculate economic growth.
d. total output does not take into account changes in prices.
17. ‘When comparing the standard of living of a rich country with a poor country, it is more likely that the
PPP method will give a difference-in the standard of living compared to the exchange rate method.
a. larger. b. smaller. ¢. thesame. d. sometirnes larger and sometimes smaller.
18. An increase in the saving rate the steady state value of capital per worker, and __ the

steady state value of cutput per worker.

a. increases, decreases. b. decreases, decreases. c. increases, increases.
d. decreases, increases.

15. The purchasing power parity (PPP) approach is a more useful method used to compare the standard of living
of different countries because:

a. using current exchange rates, which can vary a lot, canse large fluctuations in cutput per capita among
countries.

b. current exchange rates do not take into account differences in prices of basic goods ameng countries.
c. the PPP method does not ignore differences in prices of basic goods.
d. all of the above.

20. The change in capital stock per werker:
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a. increases when output per worker increases, b. decreases when private saving increases.
¢. increases when the depreciation rate increases. d. decreases when the saving rate increases.

21. Suppose the unemployment rate is a little higher than its natural rate. If the Fed estimates unemployment at a
rate that is a lot higher than the natural rate and implemented an expansionary monetary policy, the risk is:

a. highinflation. b, high interest rate in the short run. ¢. decrease in stock prices.

d. all of the above.

22, Shoe-leather cost of inflation refers to the effect of inflation on:
a. real purchasing power of money.

b. nominal interest rate and real money holdings.

c. the real exchange rate. d. tax distortions.

23. Suppose you purchased a house for $100,000 twenty years ago, and inflation has been running at 5% a year
since then. If capital gains tax is 20%, your effective tax rate equals;

a. 20%. b. 23%. c. 15%. d. 12%.

24. Money illusion is people failing to distinguish between:

a. real and nominal wages. b. real and nominal money balances.
c. real and nominal interest rate. d. all of the above.

25. Increasing the budget deficit:
a. increases output in the longrun. b. decreases output in the short run.
¢. decreases output in the long run. d. decreases the interest rate in the medium run.
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1 - Welfare State
2 ~ Social Security
3 » Universalism
4 - Citizenship
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1. poverty trap

2, cream skimming

3. progressive taxation

4. welfare pluralism
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